Efficiency vs dr

0.2

Y

me—

[y

1072

=
S
w

[ Efficiency vs dr (track,jet) |

RU000000 bal_mKFIit_baseline
0001_R000000001 Global __mKkFit_var

\4

Y
DOM~V0001~R000000001 Global__mkFit_jcoreNoClean
DOM_V/

0001_| ROOOOOOOOl Global_mkFlthoreSHlts

|ull|]!ll|],”|'ulﬂh..

nhmﬂluﬂ ; i‘r.d !nu i

1
TP min AR

0.8

T “°F
E 0.7F
x E
< 0.6
(2] n
> C
& 0.5F
c L
q_) -
o -
2 04t
() r
0.3F
0.2F
0.1
o Of
A SRR
2;_ ..............
1

=
S
w

Efficiency vs pu

—1

50.02 —

o L

e A A S S e
R Lod]
2 4 6 8 10 12 14 16 18 20

Pileup



	Contents
	Page 1


